# Simple Algorithm for the Generation of Adomian Polynomial 

${ }^{1}$ Adeyeye F.J., ${ }^{2}$ Ibijola E. A. and ${ }^{3}$ Skwame. Y.<br>${ }^{1}$ Department of Maths/Computer, College of Sciences. Federal University of Petroleum Resources, Effurun. Delta State. ${ }^{2}$ Department of Mathematics, Faculty of Sciences, Ekiti state university, Ado -Ekiti, .Ekiti State.<br>${ }^{3}$ Department of Mathematical Science, Faculty of science. Adamawa State, Mubi, Nigeria.


#### Abstract

In this paper, we shall introduce a simple Class I Accelerated algorithm for the generation of Adomian polynomial in Adomian decomposition method .The class I Accelerated algorithm which is more precise and accurate in the generation of Adomian polynomial is also compared to the classical method and formula for the generation of Adomian polynomial.


Keywords: Adomian decomposition method, Adomian polynomial, Linear and non-linear Functions ODE.

### 1.0 Introduction

Several reseachers [1-5] have presented powerful decomposition methodology based on the Adomian approach for practical solution of linear or nonlinear and deterministic or stochastic operator equations, including ordinary differential equations, partial differential equations, integral equations e.t.c.

Adomian decomposition method(ADM) is a significant, powerful method, which provides an efficient means for the analytics and numerical solution of differential equation which model real-life physical applications.

Adomian decomposition methods allow us to solve non-linear differential equation having to appeal to the decidedly questionable practice of perturbation or linearization.

The solution algorithm yields a rapidly convergent sequence of analytics approximant, which is readily computable, without recourse to linearization.

ADM consist of splitting the given equation into linear and non-linear parts, leaving the highest - order derivative operation contained in the linear operation in both sides, identifying the initial and / or the boundary condition and the terms involving the independent variable alone as initial approximation, decomposing the unknown function into series whose component are to be determined, decomposing the non linear function in terms of special polynomial called Adomian's polynomials and finding the successive terms of the series solution by recurrent relation using Adomian's polynomial .ADM is quantitative rather than qualitative, analytic, requiring neither linearization nor perturbation and continuous with no resort to discretization and consequent computer-intensive calculations.

In this study we shall be finding other ways mathematically, on how to generate Adomian Polynomial outside the conventional approach.

[^0]
### 2.0 Discuss methodology

Given
$F U=L U+R U+N U=g$
a nonlinear ordinary differential equation such that
$\mathrm{g}=$ Special analytic function
$\mathrm{F}=$ General nonlinear stochastic operator
$\mathrm{L}=$ the linear operator
$\mathrm{R}=$ Random operator
$\mathrm{N}=$ Nonlinear operator per Adomian's notation.
Then for simplicity,
we consider an Engineering model from the Adomian's differential equation such as,

$$
\begin{equation*}
L U+N U=g \tag{1.2}
\end{equation*}
$$

where generally, the operator F has linear and nonlinear components. Adomian [1] partitioned L into components for the sake of easy integrations, such that,

$$
\begin{equation*}
L=\mathcal{L}+R \tag{1.3}
\end{equation*}
$$

Where

$$
\begin{equation*}
L=\frac{d^{n}}{d x^{n}} t \tag{1.4}
\end{equation*}
$$

And generally

$$
\begin{equation*}
R_{1}=\sum_{v-0}^{n-1} \propto_{v}(x) \frac{d^{v}}{d x_{v}} \tag{1.5}
\end{equation*}
$$

(1.5) the remainder ( R ) operator linear terms.

For the power of illustration, we specialize the nonlinear operator N to be a simple non linearity such that

$$
\begin{equation*}
N u=R_{2} f(u) \tag{1.6}
\end{equation*}
$$

where $f(u)$ is an analytic function of the solution $u$.
In this case, the operator $R_{2}$ may have a similar form as the remainder $R_{1}$.
For simplicity of exposition, we have

$$
\begin{equation*}
L u-R_{1} u-R_{2} f(u)=g \tag{1.7}
\end{equation*}
$$

Now if $L$ is an inverted operator

$$
\begin{equation*}
L^{-1}=\emptyset+A^{-1} \tag{1.8}
\end{equation*}
$$

Where $A^{-1}$ is $n-$ fold indefinite integral operator
$\int \ldots \ldots \int() d. x \ldots \ldots \ldots \ldots$....... $\quad .$.
and

$$
\begin{equation*}
\phi=\sum_{v=0}^{p-1} B_{v} \frac{x^{v}}{v!} \tag{1.9}
\end{equation*}
$$

it means that

$$
\begin{equation*}
L^{-1}=\int_{0}^{1} \circ \circ \circ \int_{0}^{1}\left({ }^{\circ}\right) d t \ldots . d t \tag{2.0}
\end{equation*}
$$

for IVP order differential equation.

$$
\begin{equation*}
L^{-1}=\beta_{0}+\beta, r+\int r^{-2} \int r^{2}(0) d_{r} d_{r} \tag{2.1}
\end{equation*}
$$

By Banach theorem [4] on (1.6), we have

$$
\begin{equation*}
\left\|L^{-1} R_{1}\right\|<\mid \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|L^{-1} R_{2}\right\|<1 \tag{2.3}
\end{equation*}
$$

With the operator L we have

$$
\begin{equation*}
L^{-1} L u=L^{-1} g+L^{-1} R_{1} u+L^{-1} R_{2} f(u) \tag{2.4}
\end{equation*}
$$

which yield Adomian integrator

$$
\begin{equation*}
U=\emptyset+L^{-1} g+L^{-1} R_{1} u+L^{-1} R_{2} f(u) \tag{2.5}
\end{equation*}
$$

Equation (2.4) is the decomposition IVP First order and Boundary value problem respectively.
This can be [4]

$$
\begin{equation*}
U=\sum_{m=0}^{\infty} U_{m} \lambda^{m} f(u)=\sum_{m=0}^{\infty} A_{m} \lambda^{m} \tag{2.6}
\end{equation*}
$$

Where $\lambda=$ parametrized variable.
By the Paramerized Taylor expansion series (2.6)

$$
\begin{align*}
& u_{m}=\left.\frac{1}{m!} \frac{\partial^{m} f(u(x: \lambda)}{\partial \lambda^{m}}\right|_{\lambda=0}  \tag{2.7}\\
& A_{m}=\left.\frac{1}{m!} \frac{\partial^{m} f(u(x: \lambda)}{\partial \lambda^{m}}\right|_{\lambda=0} \tag{2.8}
\end{align*}
$$

Equation (2.6) by implicit differentiation is call Adomian polynomial formula
The generation of Adomian polynomial by (2.6)

$$
A_{m}=\left.\frac{1}{m!} \frac{\partial^{m} f(u(x: \lambda)}{\partial \lambda^{m}}\right|_{\lambda=0}
$$

When $\mathrm{n}=0$

$$
A_{0}=\frac{1}{1}\left[\frac{1}{1} f\left(u_{0}\right)\right]=f\left(u_{0}\right)
$$

When $\mathrm{n}=1$

$$
A_{1}=\frac{1}{1!}\left[\frac{d}{d \lambda} N\left(\left.\sum_{k=0}^{1} \lambda u_{k}\right|_{\lambda=0}\right)\right]
$$

$$
A_{1}=\frac{d}{d \lambda} N\left(\lambda^{0} u_{0}+\lambda^{1} u_{1}\right)
$$

$$
A_{1}=f\left(u_{0}\right)+f\left(\lambda^{1} u_{1}\right)
$$

$$
A_{1}=u_{1} f^{I}\left(u_{0}\right)+u_{1} f\left(\lambda^{1} u_{1}\right)
$$

$$
A_{1}=u_{1} f^{I}\left(u_{0}\right)
$$

$$
\text { When } n=2
$$

$$
A_{2}=\frac{1}{2!}\left[\frac{d^{2}}{d \lambda^{2}} N\left(\lambda^{0} u_{0}+\lambda^{1} u_{1}+\lambda^{2} u_{2}\right)\right]
$$

$$
=\frac{1}{2!}\left[\frac{d^{2}}{d \lambda^{2}} f\left(\lambda^{0} u_{0}+\lambda^{1} u_{1}+\lambda^{2} u_{2}\right)\right]
$$

$$
=\frac{1}{2!}\left[\frac{d^{2}}{d \lambda^{2}} f\left(\lambda^{0} u_{0}+f\left(\lambda^{1} u_{1}\right)+f\left(\lambda^{2} u_{2}\right)\right]\right.
$$

$$
=\frac{1}{2!} \frac{d}{d \lambda}\left[0+u_{1} f^{I}\left(\lambda^{I} u_{1}\right)+2 \lambda u_{2} f^{I}\left(\lambda^{2} u_{2}\right)\right]
$$

$$
=\frac{1}{2!}\left[u_{1}^{2} f^{I I}\left(\lambda^{I} u_{1}\right)+2 \lambda u_{2} 2 \lambda u_{2} f^{I I}\left(\lambda^{2} u_{2}\right)+2 \lambda u_{2} f^{I}\left(\lambda^{2} u_{2}\right)\right]
$$

$$
=\frac{1}{2!}\left[u_{1}^{2} f^{I I}\left(\lambda^{I} u_{1}\right)+4 \lambda^{2} u_{2}^{2} f^{I I}\left(\lambda^{2} u_{2}\right)+2 \lambda u_{2} f^{I}\left(\lambda^{2} u_{2}\right)\right]
$$

as $\lambda \Rightarrow 0$
$=\frac{1}{2!}\left[u_{1}^{2} f^{I I}\left(\lambda^{I} u_{1}\right)+2 \lambda u_{2} f^{I}\left(\lambda^{2} u_{2}\right)\right]$
$=u_{2} f^{I}\left(u_{2}\right)+\frac{u_{1}^{2}}{2!} f^{I I}\left(u_{0}\right)$
therefore $A_{2}=u_{2} f^{I}\left(u_{2}\right)+\frac{u_{1}^{2}}{2!} f^{I I}\left(u_{0}\right)$
When $\mathrm{n}=3$

$$
\begin{aligned}
& A_{3}=\frac{1}{3!}\left[\frac{d^{3}}{d \lambda^{3}} f\left(\sum_{n=0}^{\infty} \lambda^{k} u_{k}\right)\right] \\
& A_{3}=\frac{1}{3!}\left[\frac{d^{3}}{d \lambda^{3}} f\left(\lambda^{0} u_{0}+\lambda^{1} u_{1}+\lambda^{2} u_{2}+\lambda^{2} u_{2}\right)\right] \\
& =\frac{1}{3!}\left[\frac{d^{3}}{d \lambda^{3}}\left(f\left(\lambda^{0} u_{0}\right)+f\left(\lambda^{1} u_{1}\right)+f\left(\lambda^{2} u_{2}\right)+f\left(\lambda^{3} u_{3}\right)\right)\right] \\
& =\frac{1}{3!}\left[\frac{d^{2}}{d \lambda^{2}}\left(u_{1} f^{I}\left(\lambda u_{1}\right)+2 \lambda u_{2} f^{I}\left(\lambda^{2} u_{2}\right)+3 \lambda^{2} u_{3} f^{I}\left(\lambda^{3} u_{3}\right)\right)\right]
\end{aligned}
$$

Journal of the Nigerian Association of Mathematical Physics Volume 22 (November, 2012), 393 - 398

$$
\begin{aligned}
& =\frac{1}{3!}\left[\frac{d^{1}}{d \lambda^{I}}\left(u^{2} f^{I I}\left(\lambda u_{1}\right)+2 u_{2} f^{I}\left(\lambda^{2} u_{2}\right)+2 \lambda u_{2} 2 \lambda u_{2} f^{I I}\left(\lambda^{2} u_{2}\right)+6 \lambda u_{3} f^{I}\left(\lambda^{3} u_{3}\right)+3 \lambda^{2} u_{3} 3 \lambda^{2} u_{3} f^{I I}\left(\lambda^{3} u_{3}\right)\right)\right] \\
& =\frac{1}{3!}\left[\frac{d^{1}}{d \lambda^{1}}\left(u^{2} f^{I I}\left(\lambda u_{1}\right)+2 u_{2} f^{I}\left(\lambda^{2} u_{2}\right)+4 \lambda^{2} u_{2}^{2} f^{I I}\left(\lambda^{2} u_{2}\right)+6 \lambda u_{3} f^{I}\left(\lambda^{3} u_{3}\right)+9 \lambda^{4} u_{3}^{2} f^{I I}\left(\lambda^{3} u_{3}\right)\right)\right] \\
& =\frac{1}{3!}\left[\left(u^{3} f^{I I I}\left(\lambda u_{1}\right)+2 u_{2} f^{I}\left(\lambda^{2} u_{2}\right)+2 \lambda u_{2} 2 \lambda u_{2} f^{I I}\left(\lambda^{2} u_{2}\right)+4 u_{2}^{3} u_{3} f^{I I I}\left(\lambda^{2} u_{2}\right)+6 \lambda u_{3} 3 \lambda^{2} u_{3} f^{I I}\left(\lambda^{3} u_{3}\right)\right.\right. \\
& \left.\quad+36 \lambda^{3} u_{3}^{2} f^{I I}\left(\lambda^{3} u_{3}\right)+9 \lambda^{4} u_{3}^{2} 3 \lambda^{2} u_{3} f^{I I I}\left(\lambda^{3} u_{3}\right)\right] \\
& =\frac{1}{3!}\left[\left(u^{3} f^{I I I}\left(\lambda u_{1}\right)+2 u_{2} f^{I}\left(\lambda^{2} u_{2}\right)+4 \lambda^{2} u_{2}^{2} f^{I I}\left(\lambda^{2} u_{2}\right)+4 u_{2}^{3} u_{3} f^{I I I}\left(\lambda^{2} u_{2}\right)+6 u_{3} f^{I}\left(\lambda^{3} u_{2}\right)+18 \lambda^{3} u_{3}^{2} f^{I I}\left(\lambda^{3} u_{3}\right)\right.\right. \\
& \left.\quad+36 \lambda^{3} u_{3}^{2} f^{I I}\left(\lambda^{3} u_{3}\right)+27 \lambda^{6} u_{3}^{3} f^{I I}\left(\lambda^{3} u_{3}\right)\right]
\end{aligned}
$$

Appling the principle of $\lambda=0$ after differentiating and the other condition of u

$$
A_{3}=u_{1} f^{I}\left(u_{0}\right)+u_{1} u_{2} \frac{u_{1}^{2}}{2!} f^{I I}\left(u_{0}\right)+\frac{u_{1}^{3}}{3!} f^{I I I}\left(u_{0}\right)
$$

## The algorithm of Adomian Polynomial by Class I accelerated $\left(A_{\mathbf{n}}^{(1)}\right)$

The class 1 value for the decomposition parameters $P_{1}^{(1)}(m)=m, P_{2}^{(1)}(m)=\infty$ and $P_{3}^{(1)}(m)=\infty$, where the parameterized partial sum $\mathrm{S}_{\mathrm{m}}^{(1)}\left(\sum A_{n}\right)$ define the accelerated Adomian polynomials $\mathrm{A}_{\mathrm{n}}^{(1)}$

$$
\begin{align*}
& S_{m}^{(1)}\left(\sum A_{n}\right)=\sum_{k=1}^{n}\left\|\frac{1}{n!}\left(\sum_{m-0}^{\infty} U_{v}-U_{0}\right)^{n} \frac{\partial^{n}}{\partial U_{o}} f\left(U_{o}\right)\right\| v, m \text { [1] }  \tag{2.9}\\
& S_{m}^{(1)}\left(\sum A_{n}\right)=\sum_{n=0}^{\infty} \frac{\left.S_{m}\left(\sum u_{v}\right)-U_{\circ}\right)^{n}}{n!} \frac{\partial^{n}}{\partial U_{o}^{n}} f\left(U_{o}\right) \tag{3.0}
\end{align*}
$$

We note that

$$
\begin{align*}
& \left(\sum u_{v}\right)=\sum_{v=0}^{\infty}\left(U_{o}\right) \text { also }  \tag{3.1}\\
& \frac{\partial^{n}}{\partial U_{o}^{n}} f\left(U_{o}\right)=f^{n}\left(U_{o}\right) \tag{3.2}
\end{align*}
$$

However the degenerate sums U and $f(u)$ are unique therefore

$$
\begin{align*}
& S_{m}^{(1)}\left(\sum^{\infty} A_{n}^{(1)}\right)=\phi_{m}^{(1)}[f(u)]=\phi_{m}^{(1)}=\sum_{n=o}^{\infty} A_{n}^{(1)}  \tag{3.3}\\
& \sum_{n=o}^{\infty} \frac{\sum_{v=1}^{\infty} U_{v}^{(1)}}{n!} f^{n}\left(U_{o}\right)=\sum_{n=o}^{\infty} \frac{\left(\phi_{m}^{(1)}-U_{o}\right)^{n}}{n!} f^{n}\left(U_{o}\right)=f\left(\phi_{m}^{(1)}\right) \tag{3.4}
\end{align*}
$$

We now emphasize the equality for $m \geq 1$
and

$$
\begin{equation*}
\phi_{m}^{(1)}=\sum_{n=o}^{\infty} \frac{\left(\phi_{m}^{(1)}-U_{o}\right)^{n}}{n!} f^{n}\left(U_{o}\right)=f\left(\phi_{m}^{(1)}\right) \tag{3.5}
\end{equation*}
$$

this can now sequel to

$$
\begin{align*}
& A_{m}^{(1)}=\phi_{m}^{(1)} \text {. For } m \geq 1  \tag{3.6}\\
& \text { implies } A_{m}^{(1)}=\phi_{m+1}^{(1)}-\phi_{m}^{(1)}  \tag{3.7}\\
& \quad \text { we have } \\
& \phi_{m}^{(1)}=f^{n}\left(U_{o}\right)=f\left(\phi_{m}^{(1)}\right)  \tag{4.8}\\
& \phi_{2}^{(1)}=\sum_{n=o}^{\infty} \frac{\left(U_{m}^{(1)}\right)^{n}}{n!} f^{n}\left(U_{o}\right)  \tag{4.9}\\
& \phi_{3}^{(1)}=\sum_{n=o}^{\infty} \frac{\left(U_{m}^{(1)}+U_{m}^{(2)}\right)^{n}}{n!} f^{n}\left(U_{o}\right)  \tag{5.0}\\
& \phi_{4}^{(1)}=\sum_{n=o}^{\infty} \frac{\left(U_{m}^{(1)}+U_{m}^{(2)}+U_{m}^{(3)}\right)^{n}}{n!} f^{n}\left(U_{o}\right) \tag{5.1}
\end{align*}
$$

$\phi_{5}^{(1)}=\sum_{n=o}^{\infty} \frac{\left(U_{m}^{(1)}+U_{m}^{(2)}+U_{m}^{(3)}+U_{m}^{(4)}\right)^{n}}{n!} f^{n}\left(U_{o}\right)$
Since
$A_{m}^{(1)}=\phi_{1}^{(1)}$ for $m \geq 1$
Therefore the General equation of Class 1 Adomian Polynomial Generation
$A_{m}^{(1)}=\phi_{1}^{(1)}=\sum_{n=0}^{\infty} \frac{\left(\sum_{v-1}^{n-1} U_{v}\right)^{n}}{n!} f\left(U_{o}\right)$
THE GENERATION OF ADOMIAN POLYNOMIAL BY CLASS 1

$$
\text { At } n=1
$$

$$
\begin{equation*}
A_{o}=\phi_{1}^{(1)}=\sum_{n=0}^{\infty} \frac{\left(\sum_{v-1}^{0} U_{v}\right)^{n}}{n!} f\left(U_{o}\right)=f\left(U_{o}\right) \tag{5.5}
\end{equation*}
$$

At $n=2$

$$
\begin{equation*}
\emptyset_{2}=\sum_{n=0}^{\infty} \frac{\left(U_{m}^{(1)}\right)^{n}}{n!} f^{n}\left(U_{o}\right)=\frac{U_{1}^{o}}{0!} f^{(o)}\left(U_{o}\right)=U_{1} f^{(2)}\left(U_{o}\right)+\frac{U_{1}^{(2)}}{2!}=U_{1} f^{(o)}\left(U_{o}\right) \tag{5.6}
\end{equation*}
$$

At $n=3$

$$
\begin{equation*}
\emptyset_{3}^{(1)}=\sum_{n=0}^{\infty} \frac{\left(\sum_{v=2}^{2} U_{v}\right)^{n}}{n!}=\sum_{n=0}^{\infty} \frac{\left(U_{1}+U_{2}\right)^{n}}{n!} f^{n}\left(U_{o}\right) \tag{5.7}
\end{equation*}
$$

$$
\begin{equation*}
=\frac{\left(U_{1}+U_{2}\right)^{0}}{0!} f^{(0)}\left(U_{o}\right)+\frac{\left(U_{1}+U_{2}\right)^{1}}{1!} f^{1}\left(U_{o}\right)+\frac{\left(U_{1}+U_{2}\right)^{2}}{2!} f^{2}\left(U_{o}\right) \tag{3.1}
\end{equation*}
$$

$$
\begin{equation*}
+\frac{\left(U_{1}+U_{2}\right)^{3^{*}}}{3!} f^{(3)}\left(U_{0}\right) \tag{5.8}
\end{equation*}
$$

$$
\begin{equation*}
\emptyset_{3}=U_{2} f^{(1)}\left(U_{o}\right)+\frac{U_{1}^{2}}{2!} f^{2}\left(U_{o}\right) \tag{5.9}
\end{equation*}
$$

$$
\text { At } n=4
$$

$$
\begin{equation*}
\emptyset_{4}^{(1)}=\sum_{n=0}^{\infty} \frac{\left(\sum_{v=1}^{3} U_{v}\right)^{n}}{n!}=\sum_{n=0}^{\infty} \frac{\left(U_{1}+U_{2}+U_{3}\right)^{n}}{n!} f^{n}\left(U_{o}\right) \tag{6.0}
\end{equation*}
$$

$$
=\frac{\left(U_{1}+U_{2}+U_{3}\right)^{0}}{0!} f^{n}\left(U_{o}\right)+\frac{\left(U_{1}+U_{2}+U_{3}\right)^{1}}{1!} f^{n}\left(U_{o}\right)+\frac{\left(U_{1}+U_{2}+U_{3}\right)^{2}}{2!} f^{n}\left(U_{o}\right)+\frac{\left(U_{1}+U_{2}+U_{3}\right)^{3}}{3!} f^{n}\left(U_{o}\right)
$$

$$
\begin{equation*}
+\frac{\left(U_{1}+U_{2}+U_{3}\right)^{4}}{4!} f^{n}\left(U_{o}\right) \tag{6.1}
\end{equation*}
$$

$$
\text { At } n=5
$$

$$
\begin{equation*}
\emptyset_{4}=U_{3} f^{(1)}\left(U_{o}\right)+U_{1} U_{2} f^{2}\left(U_{o}\right)+\frac{U_{1}^{3}}{3!} f^{3}\left(U_{o}\right) \tag{6.2}
\end{equation*}
$$

$$
\begin{equation*}
\emptyset_{5}^{(1)}=\sum_{n=0}^{\infty} \frac{\left(\sum_{v=1}^{4} U_{v}\right)^{n}}{n!}=\sum_{n=0}^{\infty} \frac{\left(U_{1}+U_{2}+U_{3}+U_{4}\right)^{n}}{n!} f^{n}\left(U_{o}\right) \tag{6.3}
\end{equation*}
$$

$$
\begin{equation*}
\emptyset_{5}^{(1)}=U_{4} f^{(1)}\left(U_{o}\right)+\frac{U_{2}^{2}}{2!} f^{2}\left(U_{o}\right)+U_{1} U_{3} f^{3}\left(U_{o}\right)+\frac{U_{1}^{4}}{4!} f^{4}\left(U_{o}\right) \tag{6.4}
\end{equation*}
$$

$$
A_{4}=U_{4} f^{I}\left(U_{o}\right)+\frac{U_{2}^{2}}{2!} f^{I I}\left(U_{o}\right)+U_{1} U_{3} f^{I I I}\left(U_{o}\right)+\frac{U_{1}^{4!}}{4!} f^{I v}\left(U_{o}\right)
$$

## Conclusion

$$
\begin{equation*}
A_{n-1}=\emptyset_{n} \sum_{n=0}^{\infty} \frac{\left(\sum_{v=1}^{n-1} U_{v}\right)^{n}}{n!} \tag{6.5}
\end{equation*}
$$

The higher the order of differential in (2.8) makes the Generation of Adomian polynomial very complex, tedious, cumbersome to generate.

But, class I Acceleration algorithm creates a convenient, precise and fast method of generating the polynomial.

## References

[1] Randulph C. Rach, [2008] "A new definition of the Adomian Polynomial". International Research Journal of Engineering and Technology, vol 37, no 7.pp 910-55.
[2] Omor K. Taradat [2008], "Adomian Deposition method for solving Abelian Differential equations". Journal of applied science 8(10), pp 1962-1966.
[3] K. Abbanui and Y. Cherrault [1994] " Convergence of Adomian's method applied to Differential equations" International Journal of Computer/Maths Application, vol. 28 No 5, opp 103-109,
[4] J.Biazar and S.M.Shafiaf [2007] "A Simple Algorithm for calculating Adomian Polynomials". International Journal Computer/ Math science, vol 2, No 20 , pp 975-982.
[5] Abbaoui K.J. And Cherruault .Y [1994] "Convergence of Adomian's method applied to differential equation". Computer / Maths applicants vol.28, No5, pp 103-109.


[^0]:    ${ }^{1}$ Corresponding author: Adeyeye F. J., E-mail: adeyeyefola@yahoo.com, Tel. +234 8037344253

